ESTRUCTURA : | NSTALACI ON ELECTRI CA

INSTALACION ELECTRICA

Rating: Not Rated Yet
Price:

Variant price modifier:
Base price with tax:
Price with discount:
Salesprice with discount:
Sales price:

Sales price without tax:

Discount:

Tax amount:

Ask a question about this product

Description
Ref. Titulo
1 INSTALACION ELECTRICA DUE
2 REGULADOR DE VOLTAJE
3 TORNILLO M6X16
4 TUERCA M6
5 BOBINA
6 RELAY DE ARRANQUE
7 TUERCA M6
8 LLAVE DE CONTACTO
9 TORNILLO M6X16
10 ARANDELA 6
11 BOCINA
12 cD.l.
13 FUNDA FUSIBLE
14 FUSIBLE 10A
15 LLAVE CONTACTO
16 TAPA INTERRUPTOR DE ENCENDIDO
17 PRESINTO
18 ABRAZADERA
19 GOMA RELAY DE ARRANQUE

89-85100-1355
89-83100-G129
89-B058700060
89-B061870106
89-81100-G129
89-82290-G129
89-B061700006-4
89-84200-G129
89-B1667400-9
89-B000970106-2
89-85500-H136
89-81200-G129
89-85170-G129
89-85171-0000
89-08310-G129
89-84202-G129
89-08216-0000
89-81211-G129
89-82292-1126

Cédigo

1/


https://cprrepuestos.com.ar/images/stories/virtuemart/product/instalacion electrica.png

ESTRUCTURA :

| NSTALACI ON ELECTRI CA

20
21
22
23
24

TORNILLO M6X20
DESTELLADOR
BATERIA 12V 5A
CAPUCHON BUJIA
ALARMA DUE 110

Titulo

89-B1667400-10
89-85600-G124
0-10030
89-81110-G129
89-800-2

Ccodigo

2/


http://www.tcpdf.org

